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[bookmark: _Ref488331639]Introduction
[bookmark: _Ref178064866]This paper is going to discuss the Tx-resource (re)selection issue, which was discussed on last RAN2 meeting but didn’t achieve a conclusion.
Discussion
Firstly, it’s good to be clear on the background of this issue. The “minimum time gap restriction” was studied and proposed in RAN1, the work for RAN2 is to capture this restriction in MAC specification. When this restriction issue was firstly introduced in MAC specification, many companies found the misalignment, i.e. “PSFCH is configured for this pool of resources” in RAN2 CR and “HARQ feedback is enabled for logical channel(s)” in RAN1 agreement, and raised their concern. 
[bookmark: _Toc66373456]The “minimum time gap restriction” was studied and discussed in RAN1.
[bookmark: _Toc66373457]There is indeed a misalignment between RAN2 and RAN1.

As for the result of discussion on last RAN2 meeting, there are two options on the table which are preferred by the two sides of companies:  
	Proposal 6: RAN2 to make a decision which following option should be adopted for WF
-	Option 1: Keep the current specification and send a LS to RAN1 to explain the technical concern if we capture their agreement in MAC. Proposed CR in R2-2102260 is not pursued. FFS the exact content of the LS. 
	
· Option 3: Agree “in case that sl-HARQ-FeedbackEnabled has been set to enabled for the logical channel” for both single MAC PDU and multiple MAC PDUs, without changing the existing LCP. And this issue is closed.



The logic of the side supports option 1 is that:
· There is a gap of LCH between the resource/pool selection and LCP procedure.
· There gap will lead to un-processable data drop.
Therefore, they prefer not to change the MAC specification although there is a misalignment between RAN1 and RAN2.
For option 3:
· Since people all agree the misalignment, fix the problem directly in MAC specification is straightforward.
· For the gap issue, if the gap exists, it exists between every step before the MAC PDU is successfully transmitted, which means each configuration for Tx-resource (re)selection is not one hundred percent accurate, not only the HARQ issue.
· If we do want to go into the gap issue, UE can also drop the transmission. The dropping will only happen in such case that there is a HARQ enabled higher priority LCH comes during the gap, and there is a need of retransmission, which is low probability happen. In addition, the dropping is not entirely new.
· RAN1 has gave a solution for the case in which the minimum time gap can’t be ensured.
[bookmark: _GoBack]
In general, we prefer option 3 to just fix this issue in MAC specification.
[bookmark: _Toc66376404]For these two options, option 3 is preferred.
If we finally go to the other direction, i.e., keep MAC as it is and send LS to RAN1, since the misalignment issue between RAN1 and RAN2 need to be solved, we have to inform them and ask them to align with us.
[bookmark: _Toc66376405]Regardless of which option is applied, the misalignment issue needs to be solved. 

Conclusion
We have the following observations:
Observation 1	The “minimum time gap restriction” was studied and discussed in RAN1.
Observation 2	There is indeed a misalignment between RAN2 and RAN1.

We have the following proposals:
Proposal 1	For these two options, option 3 is preferred.
Proposal 2	Regardless of which option is applied, the misalignment issue need to be solved.
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